ANNO SCOLASTICO 2013/ 2014 LICEO CLASSICO

. =
S| o Jelel |alalo|w S . .| | .| = <| . Wzl |2 2| d| =
| £ O | x| <| Z| 4| @G| O] = |1 ol 5 =| L
ele| = <|2|2|S|2]82|2|3|lclelal<lglzl2lk 2 82| Rl ol g 2l2gla
218|8|z|S| 5|2 2|a|5|E[E|2|3|E|E|2|a| 2| 8|N|S|IE|2 58 =58
2 2| S|SB 585 2l22clele|cld|2ge3alz2eEElEE
w| = vl - QL 5| S22 D22 = |||l x| 5|H 2=
M| < ol o =| L Ol o| O = N D e @0
(&) L >
8.10 1A 1=} IV A a B |IHIB|IVB A A | VB | VA
9.10 1A A I'VB Disp VB 1B | HB] A 1B VA VA
10.10 VA | 1A Ja IVE| IB IV A B B | VB Jicav A
Lun | 11.25 1A IVE | A B 1B IV A VB IIA | B VA
12.20 VB e v A Jicev ticed 1A VB A | VA
13.15 VA VB A
8.10 VE | IIA VA IV A 1B JIVB]|IIIB 1A Jicewv AL 1B
9.10 (1]15] 1A Jicey VA g | Vv | IVB I1A Ricev IV A AL IB
10.10 ne 1A VB B Jiced VB |IV A IB | 1A [ INA]| VA Jicew
Mar | 11.25 ] llIA [1A dicev B lIB Ricev I'VB IB VB 1A VA IV A
12.20 IV A] IA VB I1A 1B B 1B AL VB | VA
13.15 B VA
810 1A A | VB IVE IVA| IB B B | VA A
9.10 | A A | VA VB | lIIB Bicev 1A IB dicev IVB IV Al IIB
10.10 Ricev HIA 1A VB B VA | TTA IIB Riced VB |IV A] IB
Mer | 11.25 IV A 1A | IVB] VA Bicev Jicey A | B | B A VB B
12.20 VB VA e | 1B IVB [ IV AL LA IB
13.15 VB
8.10 IV Al VB 1A A | VA VB IIB | llIB A IB
910 [ HAJIIB| VA | IIA 1A IV A VB B |IVB B
10.10 Jicew A 1A | VA IIA Jicey B B VB VB B IV A
Gio | 11.25 IVB| IIB 1A VA IB 1A ticev |IIB VB 1A IV A
12.20 | A IV A VB VA | IIIB VB
13.15 VB
8.10 | 1A IA VB IB | IA VB IIB B WA IV A
9.10 dicev A B WA IB | IA VB =] VB A IV ARicev
Iﬂ-lg VB | A 1A B 1B VA LIVA IB VB A
Ven | 11.25 IVA|ININA]L IA |IVB VA | IIIB VB B | 1B dicew 1A
12.20 e VA VB HA LIV A I1A IVB| IA
13.15 IV A VA VB
8.10 A | VB VB B IV A 1A HIB | A IB VA
9.10 1B | VB IVB| 1A IV A I1A A Jicey 1B 1B VA
10,10 | 1A 1=} VB HNe\| 1B IVE A IV A diced 1A VA
Sab | 11.25 Jicev VB Jicev VB | 1A B WA 1B 11153 IV A 1A 1A
12.20 1A | IVB VA IB 1B VB |IV A| lIIB A
13.15




